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DI Bar Chart Questions for IBPS Clerk Pre, SBI Clerk Pre, LIC

Assistant Pre and IBPS RRB Assistant Pre Exams.
DI Bar Chart No.81

Directions: Study the following bar chart carefully and answer the questions given beside.

The number of people who visited four different places in two different years are given.
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1. The number of people who visited Taj Mahal in 2013 is how much percent less than
the number of people who visited Taj Mahal and Lotus Temple in 2012 together?

A. 20% B. 30% C. 25% D. 50% E. 40%

2. What is difference between the sum of the number of people who visited Qutub
Minar and India Gate in 2012 together and the sum of the number of people who
visited Lotus Temple and India Gate in 2013 together?

A. 30 B. 15 C.20 D. 10 E. None of these

3. Which place shows maximum percentage increase in number of people who visited
from 2012 to 2013?

A. Both Taj Mahal and Lotus Temple B. Lotus Temple C. India Gate
D. Both Qutub Minar and Taj mahal E. None of these




4. What is the average of the number of people who visited Taj Mahal in 2012, Qutub
Minar in 2012, Lotus Temple in 2013 and India Gate in 2013?

A.335 B. 355 C.535 D. 553 E. None of these

5. What is the ratio of the number of people who visited Qutub Minar and India Gate in
2013 together and the number of people who visited Lotus Temple and Taj Mahal in
2012 together respectively?

A.10:11 B.5:6 C.11:13 D.2:3 E. None of these

Correct Answers:
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Explanations :

1.

The number of people who visited Taj Mahal in 2013 = 450
The number of people who visited Taj Mahal and Lotus Temple in 2012 together = (280 + 320) = 600

Difference = (600 — 450) = 150

150
% less = @ x 100 = 25%

Hence, option Cis correct.

The sum of the number of people who visited Qutub Minar and India Gate in 2012 together = (360 +
300) = 660

The sum of the number of people who visited Lotus Temple and India Gate in 2013 together = (420 +
240) = 660

Difference = (660 — 660) = 0

Hence, option E is correct.

The difference between the number of people who visited Taj mahal in 2012 and 2013 =450 - 320 =
130

130
% increased = % x 100 = 40.625%

The difference between the number of people who visited Qutub Minar in 2012 and 2013 =420 - 360
=60

60
% increased = ﬁ x 100 = 16.67%

The difference between the number of people who visited India Gate in 2012 and 2013 = 300 — 240 =
60

60
% decreased = % x 100 =20%

The difference between the number of people who visited Lotus Temple in 2012 and 2013 =420 - 280
=140
140
o/ i = - 0
% increased 580 x 100 = 50%

Lotus Temple shows the maximum percentage increased in the number of people.
Hence, option B is correct.




Sum of the number of people who visited Taj Mahal in 2012, Qutub Minar in 2012, Lotus Temple in
2013 and India Gate in 2013 = (320 + 360 + 420 + 240) = 1340

1340
Reqd. average = 2 - 335
Hence, option A is correct.
The number of people who visited Qutub Minar and India Gate in 2013 together = (420 + 240) = 660
The number of people who visited Lotus Temple and Taj Mahal in 2012 together = (320 +280) = 600

Required ratio=660:600=11:10

Hence, option E is correct.
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